
Announcements
.

1) Math Major Pizza It - shirt

event in Math Library

( CD 2047 ) from noon

to 1:30 on Monday

2) Exam I Thursday next

week
,

review on Tuesday



Linear Dependence : Two functions
.

f and g ,
defined on an interval

I
,

are said to be linearly

dependent if there is a real

number C such that

f(×)=cgHF
for all X in I .



Exampled
: ( distinct roots )
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Then again ,
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we get that

C
,

e→ttge2t=yH

)

is a solution for

all Constants G ,
Ca .

Use initial conditions

to determine 4
,

Cai

y(o)=1 , so

C 1
t Cz =

1



Since yko )=0 ,

o= ( gisttseatj
'

at to

= ( -3C ,e→tt2ge2+ )
at to

= - 3C
,
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We get the equations

C,t⇐
3C ,

+24=0 .

Substituting 4=1 - Ca

into the second equation ,

-3+34+24=0 ,

so ( a
= 3/5 and

C ,
= 1- ( 2=215



Final answer :

yH=§e→t+§€



Q : How do we Know what

Solutions look like ?

Nicer : Given a second - order
,

linear differential equation

that is homogeneous with

Constant coefficients ,
all

solutions are either of

the form


